BT TRIA O - HESHEE R < %%u%ﬁosﬁ KIRHE
s s A i O
BT T & | WRH em Ty = 0T & ¥ Iag T8 T %
X 76,607 158,426 74,830 83,596 |, =& ILUET4AT 743 1,773 833 940
E 4577 9,375 4317 5,058
BEKET1T 910 1,822 871 951 |ER EEFZHT2T 1,466 3,189 1,525 1,664
BEKET2T 377 794 369 425 5 1,466 3,189 1,525 1,664
B 1,287 2,616 1,240 1,376 |R=E~&EB1T 256 756 365 391
< [E BT 9,447 22316 10523 11,793 |lHE=E~E&ER2T 289 546 278 268
Lt RER1T 357 545 267 278 |R=E~ERI3T 443 1,001 489 512
Tt RERT2T 240 440 208 232 |R=E~ER/T4T 208 427 190 237
Lt RER3T 242 412 218 194 |R=E+~ ER5T 365 645 338 307
Lt RERT4T 178 296 143 153 5| 1,561 3,375 1,660 1,715
It RERST 181 363 183 180 | KZIFAT1T 787 1,644 787 857
Lt RERGT 97 216 109 107 | KEI1RBT2T 923 1,875 906 969
Lt RER7T 78 157 74 83 gt 1,710 3,519 1,693 1,826
TtRERST 136 211 109 102 (A RERT1T 138 231 99 132
B 1,509 2,640 1,311 1,329 [ RERT2T 149 326 163 163
LIEAET1T 287 597 270 327 |mRERST 364 903 407 496
tfEBET2T 1,221 2,543 1,186 1,357 |FARERT4T 266 429 163 266
tfEBET3T 1,091 1,973 963 1,010 |FRERIST 159 359 156 203
tfEBET4T 985 2,093 1,025 1,068 | 1,076 2,248 988 1,260
g 3,584 7,206 3,444 3,762 |F{E AET 2,321 4,905 2,387 2,518
ERAET1T 634 1,482 735 747 |’ = AHT 254 437 201 236
ERATET2T 365 827 390 437 |BEEERMET1T 264 483 226 257
ERATETST 411 856 405 451 |BE ERMET2T 579 1,165 565 600
g 1,410 3,165 1,530 1,635 (BE S FRMATST 722 1,471 690 781
==Yl 1,067 2,163 1,038 1,125 (B E B RMET4T 850 1,708 818 890
HEWEET 318 541 243 298 |BEE ERMETST 716 1,593 759 834
HERE2T 402 642 279 363 5| 3,131 6,420 3,058 3,362
HEWREIIT 302 524 263 261 |BEEMBILAT1T 242 386 172 214
HEWE4AT 162 299 139 160 (B & BiEitET2T 443 869 401 468
g 1,184 2,006 924 1,082 (BEE#EILATST 537 1,113 514 599
HEREET 1,632 2,878 1,209 1,669 (B & E#EiLET4T 647 1,290 637 653
HEREET2T 2,747 5,787 2,669 3118 |BEE#BILAT5T 752 1,595 762 833
FEFETST 2,821 5,146 2,204 2,942 B 2,621 5,253 2,486 2,767
HEFETAT 2,055 3,822 1,666 2,156 |EE BHEET1T 1,069 1,950 946 1,004
HEREEIST 1,391 2,809 1,360 1,449 (B EB1BAT2T 155 333 170 163
£t| 10646 20,442 9,108 11,334 (B EBE#AT3T 2,290 4,378 2,113 2,265
HUEET1T 832 2,185 1,060 1,125 B 3,514 6,661 3,229 3,432
HYERT2T 544 1,286 615 671 | BEERZE1T 653 1,325 601 724
g 1,376 3471 1,675 1,796 (B R EBHEZET2T 471 976 452 524
MEET 423 917 446 471 | BEERZEI3T 356 803 394 409
EET2T 327 750 366 384 B 1,480 3,104 1,447 1,657
g 750 1,667 812 855 |EEEARET1T 710 1,323 645 678
WHAEET1T 735 1,812 841 971 |BEEEARET2T 268 584 286 298
WHEEET2T 218 468 225 243 |EEEARETST 1,073 2,486 1,200 1,286
RT3 T 830 1,647 839 808 B 2,051 4,393 2,131 2,262
g 1,783 3,927 1,905 2022 |EEEMEmRET1T 327 723 343 380
RKEIRAT 5923 12,780 6,096 6,684 |EE BMEmPET2T 247 479 231 248
hRERTT 293 532 250 282 |BEE EEmBET3T 653 1,371 662 709
hRER2T 197 320 149 171 B 1,227 2,573 1,236 1,337
hRERST 229 451 222 229 |J\TFdt 100 183 80 103
hRERT4T 298 531 256 275
B 1,017 1,834 877 957
o A BT 577 1,236 590 646
hEEEET1T 673 1,308 610 698
hEEEET2T 882 1,430 653 777
hEEEETST 475 1,141 545 596
hEEEET4T 760 1,473 739 734
hEEEEST 865 1,679 789 890
hEEEET6T 3,398 6,035 2,874 3,161
5t| 7053 13,066 6,210 6,856
P =T 905 2,256 1,109 1,147
BAFBILETTT 1,047 2,114 1,002 1,112
BXEFILET2T 1,002 2,187 1,062 1,125
BEAEFILAIST 1,785 3,301 1,420 1,881

IR=



